
Surface Area of 3D Shapes
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1 The diagram below shows a cylinder. 

The radius of the cylinder is 3 cm and the height is 12 cm.

Find the total surface area of the cylinder shown above.

Give your answer to 2 decimal places. 

[2 marks]

Answer cm2

Turn over for next question

Turn over ►

Not drawn 

accurately

2

3 cm

12 cm
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2 The diagram below shows two cuboids, 𝐴 and 𝐵.

2(a) Find the combined total surface area of cuboids 𝐴 and 𝐵 shown above.

[2 marks]

Answer

2(b) The two cuboids are attached to each other by placing the entire 3 × 2 face of cuboid 

𝐵 onto one face of cuboid 𝐴. 

Calculate the surface area of the new shape.

[2 marks]

Answer

Turn over for next question

Turn over ►

4

3 cm

5 cm

3 cm 4 cm

2 cm

3 cm

𝐴

𝐵

Not drawn 

accurately
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3 The diagram below shows a representation of a small USB drive consisting of two 

cuboids, 𝐴𝐵𝐶𝐷𝐸𝐹𝐻𝐺 and 𝐼𝐽𝐾𝐿𝑀𝑁𝑂𝑃 attached together.

𝐴𝐺 = 12 mm, 𝐵𝐻 = 3 mm, 𝐺𝐹 = 9 mm

𝐼𝐿 = 3 mm, 𝐾𝑂 = 1mm, 𝐼𝐽 = 𝑒

3(a) Find an expression for the total surface area of the USB drive, in terms of 𝑒.

[4 marks]

Answer

3(b) If the total surface area of the drive is 360 mm2.

Calculate the value of 𝑒

[1 mark]

Answer mm

Turn over for next question

Turn over ►

5
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𝐶

𝐷

𝐸

𝐹

𝐺

𝐻

𝐼

𝐽

𝐿
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𝑂
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12 mm
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Not drawn 

accurately
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4 The diagram below shows a cone. 

The radius of the cone is 4 cm and the slanted height is 9 cm.

Use the equations: Surface area = 𝜋𝑟𝑙 + 𝜋𝑟2

Calculate the total surface area of the cone. 

Give your answer to 2 decimal places

[3 marks]

Answer cm2

Turn over for next question 

Turn over ►

3

4 cm

9 cm

Not drawn 

accurately
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5 The diagram below shows a sphere.

The radius of the sphere is 5 cm. 

Using the equation, 𝐴 = 4𝜋𝑟2 to calculate the surface area of the sphere.

Give your answer to 2 decimal places.

[2 marks]

Answer cm2

Turn over for next question 

Turn over ►

2

Not drawn 

accurately

5 cm
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6 The diagram below shows a triangular prism 𝐴𝐵𝐶𝐷𝐸𝐹

𝐶𝐵 = 6 cm

𝐵𝐸 = 11 cm

The vertical height = 8 cm

Calculate the surface area of the triangular prism. 

Give your answer to 2 decimal places

[4 marks]

Answer cm2

Turn over ►

4

𝐵

𝐴

C

8 cm

6 cm

11 cm

𝐷

𝐹 𝐸
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7 A shape is made from a cylinder of radius 5 cm and height 4 cm.

A cuboid measuring 6 cm wide, 1 cm long and 4 cm deep is cut out of the center as 

shown below.

7(a) Calculate the total surface area of the cylinder before the cuboid was removed. 

Give your answer in terms of 𝜋

[2 marks]

Answer cm2

7(b) Calculate the surface area of the new shape formed by removing the cuboid.

Give your answer as a decimal to 2 decimal places. 

[2 marks]

Answer cm2

End of Questions

END

4
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1 cm

4 cm

5 cm

Not drawn 

accurately
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